- BRIGIDINE COLLEGE

MATHEMATICS
YR 10 HALF-YEARLY EXAM 2017
TIME ALLOWED: 60 minutes
Section 5.2

Student: e SRV FIE L aitrdpefarasas

Teacher:

-

ALL SECTIONS TO BE ANSWERED ON THE QUESTION PAPER IN THE SPACE

PROVIDED.
Section Marks Student’s mark
Trigonomefry and Ch 1 26; :
Geometry & Measurement - 240
Financial Mathemafics 20
Total A

All necessary working MUST be shown in Short/Extended response sections.

Black/blue pen MUST be used for all working and answers.
Calculator allowed.

Student name: - .

SECTION I: TRIGONOMETRY
MULTIPLE CHOICE: CIRCLE THE CORRECT ANS\VER.
1. Tind the value of cos 46°, correct to 4 decimal places.

A. 07193 B. 1.6947 C. 0.5940

2. 'Which equation could be used to find the value of 87

305 -
r 732 793
A. zos 8= 132 B. tan &= B2 C.sin 8= 32
. 793 305 793

Teacher: __

D.

3. The correct length, to one decimal pla;:e, of the side marked x is:

15m
X
(] o v
A. 13-6m .63 m C.7.0m
4. Find the size of the angle marked &,
Am
= AN
4dm
A. 41°49" B. 33°41" C. 56°19'

.

20 MARKS

D.0.6532

_ 305

fan g=
793

C.3.16m

C. 48°11"




SHORT/EXTENDED ANSWER: SHOW WORKING

5. Find the value of x, correct to twodecimal places,

6. A 6.5 metre }.ﬂgh tree casts a shadow § metres long, Caleulate the angle @ the sun’s
rays make with the ground. Round correct to the nearest mimute. o

N

8. Susan looked from the top of a &}iff 62 m high and noticed a ship at an angle of
depression of 317,

& Till in the missing information from the diageam,

b. How far was the ship from the base of the eliff? Answer correct to one decimal place.

S

7 o
9. From the lop ofa 180 m hill, the angle of depression to a town is 9° | Caleulate the
horizontal distance of the town from the hill.




10.

1.1

Michelle’s car has a fiel econo

my of 8, : , .
of 55 L. Find the maximum dis y oL BIL/100kin. Michello's fuel tank s a capacity

tance that Michelle can travel on a ful] tank of fire],

1.6x107"

m="" e
1.76x10" > wrife mlm sciertific notation correct to 1decimal place.

e

Student: o Teacher:

SECTION 2: GEOMETRY & MEASUREMENT
MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER

R Q

Which triangle below is congruent to PQR?

20 MARKS

2. Inthe diagram shown the sum of the internal angles is equal to:

A. 540 B 720 C. 900 D. 1080

% 3, A cube of side length 5 cm has a total surface area of:

A. 25¢cm?® B. 125em* C. 100em? D 150em®

4. The value of & in this diagram is:

A. 68° B. 44° C, 1187

b, 136°




SECTION 2: SHORT/EXTENDED ANSWER: SHOW WORKING

5. Find the value of x and give reasons for your answer,

8. Find the value of x.

-6. Find the value of x and give a reason for your answer.

Q7 B

2
9. Prove that AABC = ADEC
‘ Reason
A W B
( )
[y { o s 3

7. Calculate the area of the following shape?

ROTTO

SCALE

ESon

10. Find the surface area of the triangular prism.

St




11. A cirenlar swimming pool has a diameter of 10 m and a depth of 2.3m.

A. Caleulate the volume of the pool to the nearest »r*

B. Calculate the number of litres of water required to fill the pool. (1m* =1000L)

10

\

N

Student:___ Teacher:_ -

SECTION 3: FINANCIAL MATHEMATICS
MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER - 20 MARKS

Sasha works in a computer shop. She is paid $170 per week plus 12% of the amount
of her sales. Calculate her pay in a week when she sells $2 600 worth of goods.

A. $184.50 B. §190.40 C.$312 D. $482
7

2. Angelo eamns a gross salary of $3978 per month. What will be his employer’s monthly
superannuaiion contribution, at a rate of 9-25 p.a.%%?

A, §367.97 B. $397.80 C, 54345.97 D. $4375.80

3. The marked price of a DVD play is $450. ]janny buys the DVD player at a sale for
$396, Calculate the percentage discount.

A 12% B. 14% C. 54% D. 88%

4. Which of the following is the highest annual salary?

A. $2224 per week B. $4440 per formight C. $9612 permonth 1, $115 753 pa

5. Equipment with an originai value of $192 000 is depreciated at 11% p.a. of the
current value for seven years. The value of the equipment after that time period is
closest to:

A, 344 160.00 B_$84924.16 C. $86 419.88 D, $91 833.00

11




SHORT/EXTENDED ANSWER: SHOW WORIKING

6. Sandy invest §15 00 for 2 years at 5% simiple inferest per annum. Find the mtarest
from this investment,

7. 520 100 is invested at a rate of 6-9% compound interest, compounded anmually. Find

the value of the investment after 2 years, correct to two decimal places.

-

11. Dora works for $9.60 per hour for eight hours each day on Mondav to Friday. She

then works six hours over time on Saturdav at time and a ha]f How much does Dora
earn for the week’s work?

8. Mathew invests $25 000 into a 2- year fixed term deposit that pays 8% p.a with
interest compounded auarterly, Find the interest on this investment after 2 years,
cormrect to the nearest whole munber,

12. Liv bought a laptop exactly 2 years ago for $1780. 1t depreclatf:s at 16% pa. How
much did the laptop depremate by? -

9. Joshis on a yearly salary of $67 234.If he works a 38-hour week, what is his howrly
Tate to the nearest dollar? .

13. Heather sells cars. She earns $270 per week plus 5% commjssion on her total weekly
sales. What does Heather eam in a week where her sales amonnt to $86007

1]

10. The intesest paid on a loan of $35 000 with a flat interest rate of §% pa interest was
© $12 600, How long was the term of the [oan?

12

14. Luke could invest $1000 at a simple rate of 11% p.a. for 4 years or 10% pa.
Y

compounded monthly for the sante periad of time. Which is the better investment and
by how much?

13




Student name: __ - - Teacher: 7 .

SECTION 1: TRIGONOMETRY 20 MARICS

MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER.

1. Find the value of cos 46°, correct to 4 decimal places.

- BRIGIDINE COLLEGE
MATHEMATICS . A. 0.7193 @0.6947 C. 0.5940 " D. 0.6532
2
YR 10 HALF-YEARLY EXAM 2017 2. Which equation could be used to ignd the value of 87
TIME ALLOWED: 60 minutes : ) 30-5 -
. . [ ]
Section 5.2 g
6 - 73-2
- Sludent: v ut§an..’,¢’-;-{j ! u.[\j S A 793 1
Teacher: ... M., aaseesserebimenscesstinst s sy )
@:os Hiﬁz B. tan 53'132 C. sin 82132 D. fan Si(_?'_S
: 793 305 793 : 793
ALL SECTIONS TO BE ANSWERED ON THE QUESTION PAPER IN THE SPACE . . . .
PROVIDED. 3. The correct length, to one decimal place, of the side marked x is:
[ - Section Marks Student’s mark o J§50m 257
Trigonometry and Cht 1 20
Georehy & Measurement . 20 : i ' - . -
Financial Mathematics 20 i A. 13-6m 6.3 m C.7.0m C.3.16m
Total ) ' .
. . . 4. Find the size of the angle marked 4.
All necessary working MUST be shown in ShorU’Exter{ded response sections. .
Black/blue pen MUST be used for ail working and answers. m I
Caleulator allowed, : : ' 8 Ty "
, : cos” (%)
. B & AN
Adm *
A. 41749 B, 33°41° C. 56°19" s




SHORT/EXTENDED ANSWER: SHOW WORKING

5._ Find the value of v, correct to two deeimal places,

9
[ ] — .
= sln42
" x
q
e ———
Sin 47

- 1'3-45‘ '. 2 E

6. A 6.5 metre Iluigh tree casts a shadow 8 metres long. Caleulate the angle @ the sun’s
rays make with the ground. Round correct to the nearest minute, o

30.,0 6' //-.7

1

3. Susan looked from the top of a cliff 62 m high and noticed & ship atan angle of

depression of 31°,

a. Fill in the missing information from the diagram.

b. How far was the ship from the base of the cliff? Answer comrect to one decimal place.
RS S PV T
7t ’

‘1
e
Ean3i”

= [°3.'2m . 2

9. From the top of & 180 m hitl, the angle of depression to atownis 9° . Calculate the
horizontal distance of the town from the hill.

Ifu

37

= )1 36 m




10 Michell - Student: o Teacher:
- Michelle’s car has a firel economy of 8.51./1 i :
of 55 L. Find the maxi ouy of 8.51/100km. Michelle’s fire] tank has a capaci :
Lo L, e @ammum distance that Michellé can travel on a full tank of ;ngmy - SECTION 2: GEOMEIRY & MEASURTMENT :
§-5L ¢ toe fy, . MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER . 20 MARXS
JLs ’;._'?r = JLTh b
: 1.
SsLs 1Texsr o 647 kun
. R . )
% 2 ’ . ¥
' : 2 . Which triangle below is cangruent to PQR?
: ~19 ] - ’
i me=iSX0 A. B! c. ' ,
C 1.76x]gV » Vrite min scientific notation correct to 1decimal place 3 ' }
) , : pd . _ )
NEICR :
2. In the diagram shown the sum of the intemal angles is equal to:
(h-2) x130
1
A. 540 @70  C.90 D. 1080
- *% 3 A cube of side length 5 cm has a total surface ared oft
A, 25em’ B. 125em® C. 100em™ @ 150en?
4, The value of &2 in this djagram is:
\ ' : A. 68° B. 44° c. 1187 O) 3¢




N

SECTION 2: SHORT/EXTENDED ANSWER: SHOW WORKING

5. Find the value of x and give reasons for your answer,
B oM £BNo = (30 -140" (£ sum of shralshb haesl30%)
= {fo" ’

= L BVO = pfpe (cw/;;r Ll of N fiaes ave -.::)

.
-

-6, Find the value of x and give a reason for your answer.

P

i

® At 3’.t+°+io’+l‘lr°-: Jto" (L § tetve a//_ o
quad =360

= Lo FHT-Fo0%- 1257

= ")]"“

.‘. §
AvE oxTetL = 43 enr

Aye Tevre = 375 en®

A:_/;H-fr‘i'; .
= A41t378
= 417 cm? 2

8. Find the value of x.

3ot 25 =gt IS

G330 = Zg‘—lf/ .

= p?

9. Prove that AABC=ADEC

A y 8 Reason
LACT o Z2ECp =290 ( Vukoppils = )
- A B - EVD G L
BC = E< (__Jmen )

£ " LA A S AN PEC by @?{5'
- 3

10. Find the surface area of the triangular prism.

“ - Shx 2x dxdxb  (bue blaaghes)
+ 2xxi0 { $xi0 f\a_,ml-fu\\}iti)
+ Lxlo

(6 ¥ie f(,.(,l-ﬁ.aJlx,)_

= 184 cm™




11. A circular swimming pool has a diameter of 10 m and a depth of 2.3m.

A. Calculate the volume of the pool to the nearest
V = A r"ll r=
=R e 13

= Jgobm?

B. Calculate the number of litres of water required to fill the pool, (12* =1000L)

1$bbooo

10

Student; Teacher: e

SECTION 3: FINANCIAL MATHEMATICS
MULTIPLE CHOICE: CIRCLE THE CORRECT ANSWER 20 MARKS

1. Sasha works in a computer shop. She is paid $170 per week plus 12% of the amount
of her sales. Calculate her pay in a week when she sells $2 600 worth of goods.

7o+ oviax 2évo

A. $184.50 B. $190.40 C. 5312 482

2. Angelo earns a gross salary of $3978 per month. What will be his employer’s monthly
superannuation contribution, ata rate of 9-25 p.a.%? ’ .

&) $367.97 B. $397.80 C. $4345.97 D. $4375.80

3. The marked price of a DVD play is $450. B;anny buys the DVD player at a sale for
$£396, Calculate the percentage discouvnt.

12% B. 14%

C. 54% D. 88%

4, Which of the following is the highest annual salary?

(156 pey Gr54ko pay (5344 pay .
A $2224perweek  B.$4440 per fortnight C.$9612 permonth PYSII5 753 p.a

5. Equipment with an original value of $192 000 is depreciated at 11% p.a. of the
current value for seven years. The value of the equipment after that time period is
closest to:

A. 844 160.00 (@ $84 924,16 €. 586 419.88 D. $91 833.00

11




SHORT/EXTENDED ANSWER: SHOW WORKING
6. Sandy invest $1500 for 2 _years at 5% simple interest per apnum. Find the interest
from this investment,
IR O N
= |%ov i b,05% 2

= Jiso .

7. $20 100 is invested at a rate of 6-9% compound jnterest, compounded anpually. Find '
the value of the investment afler 2 years, correct to two decimal places.

~

A= g0100 (f;D&J)Q' '

=22 949.50

Mathew invests $25 000 into a 2- year fixed term deposit that pays 8% p.a with
interest compounded quarterty, Find the interest on this investment after 2 years,

correct to the nearest whole number. §% pas 2% ”
A= 25000 (fo2)F '

=82 729
I: 29291~ 2§0ce
=f4291 2

9. Josh is on a yearly salary of $67 23 4 Ifhe works a '33»_}1011; week, what is his hourly
1ate to the nearest dolfar? Todel hos's 38x52 2 1974
(0 yr !
Houtly flate = 2222 Eld .

1976
= 434
1
10. The interest paid on a loan of $35 000 with a flat interest rate of 6% pa interest was
" $12 600. How long was the ferm of the loan?
L =mrT
1 -
T= PR
Fréov
T Sguee w0h 9

= J,_g.-s-

12

11. Dora works for $9.60 per hour for eight hours each day on Mondav to Friday. She

then works six hours nvqptim.e.nn,s_an‘;rdqv at time and a half. How much dees Dora
earn for the week’s work? ) ’

M.’)n 11.; Fri: 9-6")‘_3:"5—’ fgg‘f.

Sat : 9.£px|f..rx6';$ FLoy ) !
+

R —

To}'f[l; .. ‘1-490'2{0

12, Liv bought a laptop exactly 2 years ago for $1780. Tt depreciatcg at 16% pa. How

much did the laptop depreciate by? -

Pere B how ! t780 (0. 84)™ jass. 97

, o bass 4T
L‘l f,{-.',. ;‘f(,rf‘co“f‘mﬂf 5y 17 g0 b2 55

-

ﬂ$f14,s?_ 2

13. Heather sells cars. She earns $270 per week plus 5% commjssion on her total weekly
sales. What does Heather earn in a week where her sales amount to $86007
' Y

‘?__’1‘0-1‘ Eloox v ey = 3100

14. Luke could invest $1000 at a simple rate of 11% p.a. for 4 years or 10% p,a.
compounded monthiy for the same period of time. Which is the better investment and
by how much? - -

g'[mrnl.l_ H T'—PRT

=lves Lot XY = fho = F;mfl Avennt 75 14 5o

. e yEXI2
Compoomts A= fone (14 220

= 1459, %F

) Cdmfsamaf i hetter f] #47«35__

13




